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𝟐 + 𝒖𝒚

𝟐 τzz



𝒖𝒙
𝟐 + 𝒖𝒚

𝟐 .

𝐸𝑠𝑢𝑚 𝑥𝑖 , 𝑦𝑗 , 𝑧𝑘 , 𝑡
𝑚 = σ

𝑡𝑙≤ 𝑡𝑚 𝐸(𝑥𝑖 , 𝑦𝑗 , 𝑧𝑘 , 𝑡
𝑙)

𝐸 𝑥𝑖 , 𝑦𝑗 , 𝑧𝑘 , 𝑡
𝑙 =

= 𝜏𝑥𝑥 𝑥𝑖 , 𝑦𝑗 , 𝑧𝑘 , 𝑡
𝑙 𝜀𝑥𝑥 𝑥𝑖 , 𝑦𝑗 , 𝑧𝑘 , 𝑡

𝑙 + 𝜏𝑦𝑦 𝑥𝑖 , 𝑦𝑗 , 𝑧𝑘 , 𝑡
𝑙 𝜀𝑦𝑦 𝑥𝑖 , 𝑦𝑗 , 𝑧𝑘 , 𝑡

𝑙

+ 𝜏𝑧𝑧 𝑥𝑖 , 𝑦𝑗 , 𝑧𝑘 , 𝑡
𝑙 𝜀𝑧𝑧 𝑥𝑖 , 𝑦𝑗 , 𝑧𝑘 , 𝑡

𝑙 + 2𝜏𝑥𝑦 𝑥𝑖 , 𝑦𝑗 , 𝑧𝑘 , 𝑡
𝑙 𝜀𝑥𝑦 𝑥𝑖 , 𝑦𝑗 , 𝑧𝑘 , 𝑡

𝑙

+ 2𝜏𝑥𝑧 𝑥𝑖 , 𝑦𝑗 , 𝑧𝑘 , 𝑡
𝑙 𝜀𝑥𝑧 𝑥𝑖 , 𝑦𝑗 , 𝑧𝑘 , 𝑡

𝑙 + 2𝜏𝑦𝑧 𝑥𝑖 , 𝑦𝑗 , 𝑧𝑘 , 𝑡
𝑙 𝜀𝑦𝑧 𝑥𝑖 , 𝑦𝑗 , 𝑧𝑘 , 𝑡

𝑙 .
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• 𝑓0 =
100

• 𝑣𝑝 = 3000
м

с

• 𝑣𝑠 =
𝑣𝑝

3

• 𝜌 = 2000 кг/м3

•

𝑇 = 1.2 с 2 ⋅ 10−4 с
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